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E–173 

M. A./M. Sc. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

GEOGRAPHY 

Paper First 

(Geomorphology) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- orZeku Hkwr dh dqath gS ;g okD; Hkw&vkÑfr foKku ds fdl rRo dks 

crkrh gS \ 

¼v½ dkLVZ LFky:i 
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¼c½ igkM+h Bkc 

¼l½ v)Z’kq”d tyok;q 

¼n½ vukjNknu dkyØe 

The sentence “the present is key to the past’ which element 

are indicated in geomorphology : 

(a) Karts Topography 

(b) Hill Slope 

(c) Semi arid climates 

(d) Denudational chronology 

2- f}rh; Js.kh ds mPpkopksa esa D;k xyr gS % 

¼v½ iBkj 

¼c½ ioZr 

¼l½ egklkxj 

¼n½ >hy 

Which is wrong in the relief features of the second  

order ? 

(a) Plateau 

(b) Hill 

(c) Oceans 

(d) Lakes 
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3- ?kkVh ds vanj ?kkVh cuus dk dkj.k D;k gS \ 

¼v½ ifjogu 

¼c½ uoksUes”k 

¼l½ volknhdj.k 

¼n½ vijnu 

What is the cause of formulating valley in valley  

topography ? 

(a) Transportation 

(b) Rejuvenation 

(c) Sedimentation 

(d) Erosion 

4- iF̀oh dh vk;q dk orZeku ;qx fdl uke ls tkuk tkrk gS \ 

¼v½ vfHkuo ;qx 

¼c½ ek;ksthu 

¼l½ IyhLVkslhu 

¼n½ Iyh;kslhu 

The present Epoch in the age of the earth is known as : 

(a) Holocene 

(b) Miocene 

(c) Pleistocene 

(d) Pliocene 
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5- O;kogkfjd Hkw&vkÑfr foKku ,oa fu;kstu izns’k ds fu;kstu bdkbZ esa 

D;k lgh gS % 

¼v½ HokÑfrd bdkbZ 

¼c½ fodkl[k.M 

¼l½ jkT; 

¼n½ tuin 

What is the correct planning unit for planning region and 

applied geomorphology ? 

(a) Geomorphic unit 

(b) Development block unit 

(c) State unit 

(d) Janpad unit 

6- egkns’kh; tud laecu ls gksus okyh --------------- fØ;k,¡ gksrh gSA 

¼v½ mRFkku 

¼c½ vorcu 

¼l½ fuxZeu 

¼n½ mi;qZDr lHkh 

The .............. action formed in epeirogenetic movements. 

(a) Upliftment 

(b) Submergence 

(c) Emergence 

(d) All of the above 
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7- e/; vVykafVd dVd ,d mnkgj.k gS % 

¼v½ egk}hi&egk}h vfHklj.k 

¼c½ vfr xgjh HkwdEi {ks= 

¼l½ vilkjh IysV lhek 

¼n½ p;ukRed IysV lhek 

The mid Atlantic ridge is an example of : 

(a) Continent-continent convergence  

(b) Deep focused earthquakes area 

(c) Divergence Plate Boundary 

(d) Conservative Plate Boundary 

8- fgeky; dh mRifŸk dks ------------------ ds }kjk lcls vPNk le>k;k tk 

ldrk gSA 

¼v½ egk}hih; izok fl)kUr  

¼c½ HkwlUufr dk fl)kUr 

¼l½ egklkxjh; ij ekufp=.k 

¼n½ mi;qZDr esa ls dksbZ ugha 

The origin of Himalayas can be best explained by : 

(a) Continental drift theory 

(b) Geocynclines theory 

(c) Ocean floor mapping 

(d) None of these 
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9- lfeJ Tokykeq[kh dk ,d mnkgj.k gS % 

¼v½ ekmUV ,sojsLV 

¼c½ I;qMs Mkse 

¼l½ ekmukyksok 

¼n½ ekmUV esjkih 

An example of composit velcanocs is : 

(a) Mount Everest 

(b) Puy-de-Dome 

(c) Mounaloa 

(d) Mount Merapi 

10- S rjax Nk;k izns’k --------------- ds dkj.k ls gS % 

¼v½ ØLV esfUVy lhek 

¼c½ cká v”Vre 

¼l½ fu;ch esfUVy 

¼n½ vkarfjd vUrjrk 

The S waves shadow zone is caused by the : 

(a) The crust-mantle Boundary 

(b) The Outer core 

(c) The lower mantle 

(d) The Inner core 
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11- vijnukRed LFkykÑfr -------------- dh fo’ks”krkvksa ds ek/;e ls curs gSa \ 

¼v½ cfgZtkr izØe 

¼c½ vUrZjikr izØe 

¼l½ gkbikstsc izØe 

¼n½ mi;qZDr esa ls dksbZ ugha 

The erosional topographical features are formed  

through ........ 

(a) Exogenic process 

(b) Endogenic processes 

(c) Hypogen processes 

(d) None of the above 

12- ;kaf=d vi{k; ls mRiUu gksrs gS % 

¼v½ Dyysfeujy 

¼c½ NksVs&NksVs VqdM+s 

¼l½ DokV~Zt  

¼n½ dSfYl;e dkcksZusV 

Machanical weathering produces : 

(a) Cloy minerals 

(b) Smaller particals 

(c) Quartz 

(d) Calcium carbonate 
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13- fuEufyf[kr esa ls dkSu&lk nzO;eku laecu dk lcls egRoiw.kZ dkjd 

gS % 

¼v½ rkieku  

¼c½ ncko 

¼l½ Fkksd jpuk 

¼n½ lcdh ek=k 

Which of the following is the most important factor in 

causing mass movement : 

(a) Temperature 

(b) Pressure 

(c) Bulk composition 

(d) Water content 

14- ,d vkn’kZ igkM+h tc dh ifjPNsfndk dk Åij ls uhps lgh Øe D;k 

gksrk gS % 

¼v½ eqDr i”̀Brk] mŸlŸk] rRojs[kkRed] vorcrk 

¼c½ vorcrk] eqDr i”̀Brk] mŸcrk] rRojs[kkRed 

¼l½ mŸkcrk] eqDri”̀Brk] rRojs[kkRed] vorcrk 

¼n½ rRojs[kkRed] vorcrk] rRojs[kkRed eqDr ì”Brk 

What is the correct sequence of slope profile of on ideal 

hillslope ? 

(a) Free face, convexity, Rectilinearity, concavity 



 [ 9 ] E–173 

 P. T. O. 

(b) Concavity, Freeface, Rectilinearity, convexity 

(c) convexity, Freeface, Rectilinearity, concavity 

(d) Rectilinearity, concavity, Rectilinearity, Free face 

15- Bkc ds lanHkZ esa izof.kr vif’k”V pknj ,oa izof.kr ?kkVh ik’oZ dh 

lajpuk fdldh gS \ 

¼v½ ;aqx 

¼c½ fdax 

¼l½ isad 

¼n½ Msfol 

Who code the concept of Graded waste sheet and graded 

valley side for the reference of slope : 

(a) Yung 

(b) King 

(c) Penk 

(d) Davice 

16- ;fn unh dk osx nqxquk gks tk, rks ifjogu dh ‘kfDr fdruh xquk 

c<+ tk,xh % 

¼v½ 64 

¼c½ 16 

¼l½ 08 

¼n½ 04 
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If the velocity of river is doubled, the transport power will 

increase how many times ? 

(a) 64 

(b) 16 

(c) 08 

(d) 04 

17- va/kh ?kkVh fdldh LFkykÑfr gS \ 

¼v½ cgrk ty 

¼c½ dkLVZ 

¼l½ fgekuh 

¼n½ v)Z’kq”d 

Whose topography in the Blindvalley ? 

(a) Running water  

(b) Karts 

(c) Glacial 

(d) Semiarid 

18- iqfcu dk fuekZ.k fdl izfØ;k ls gksrk gS \ 

¼v½ vijnu 

¼c½ ifjogu 

¼l½ fu{ksi.k 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Which processes are created Beaches ? 

(a) Erosion  

(b) Transportation 

(c) Deposition  

(d) None of the above 

19- ctkM+k fdl izdkj dh LFkykÑfr gS \ 

¼v½ vijfnr 

¼c½ ifjofgr 

¼l½ fu{ksfir 

¼n½ mi;qZDr lHkh 

Which type of the topography Bajada is ? 

(a) Eroded 

(b) Transported 

(c) Deposited 

(d) All of the above 

20- ijekÝkLV dh vf/kdre xgjkbZ gksrh gS % 

¼v½ 300 ehVj 

¼c½ 400 ehVj 

¼l½ 500 ehVj 

¼n½ 600 ehVj 
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Maximum depth of permafrost is : 

(a) 300 meter 

(b) 400 meter 

(c) 500 meter 

(d) 600 meter 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A 

 Attempt all questions in 2-3 sentences. 

1- Hkw&vkÑfr foKku esa tufud o.kZu D;k gS \ 

What is genetic description in Geomorphology ? 

2- vijnu pØ esa tyok;q tfur O;o/kku ls D;k rkRi;Z gS \ 

What is the meaning of climatic interruption in cycle of 

erosion ? 

3- Hkw&lacu ds lUnHkZ esa mifjeq[k lacu D;k gS \ 

What is the upward movement in the reference of earth 

movement ? 

4- larqyu ds fl)kUr dks ifjHkkf”kr dhft,A 

Define the doctrine of isostasy. 



 [ 13 ] E–173 

 P. T. O. 

5- ekuo tfur vi{k; D;k gS \ 

What is the anthropogenic weathering ? 

6- nkcksa ds ek=kRed oxhZdj.k dk vk/kkj D;k gS \ 

What are the bases of quantitative classification of slopes ? 

7- tyxfrZdk dk fuekZ.k dSls gksrk gS \ 

How potholes are created ? 

8- rVh; fDyQ D;k gS \ 

What is coastal cliffs ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words. 

1- rr̀h; dYi dh izeq[k ?kVukvksa dk fooj.k izLrqr dhft,A 

Give description about the major events of Tertiary Era. 

2- i;kZoj.kh; Hkw&vkÑfr foKku dk v/;;u {ks= D;k gS \ 

What are the study area of environmental geomorphology ? 

3- oyu D;k gS \ oyu ds fofHkUu izdkjksa dk o.kZu dhft,A 

What is Folding ? Describe the different types of folding. 
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4- Tokykeq[kh ds foLrr̀ inkFkks± dk mYys[k dhft,A 

Mention the irrupted materials by volcanos. 

5- nzO;eku lapyu ds fofHkUu Lo:iksa dk o.kZu dhft,A 

Derive the different forms of Mass movements. 

6- ;kaf=d vi{k; ds fofHkUu izdkjksa dk mYys[k dhft,A 

Mention the different types of mechanical weathering. 

7- LFkykÑfr fo’ks”krkvksa ds vk/kkj ij tyizikr cuus dh izfØ;k dk 

fooj.k nhft,A 

Describe the process and formation of waterfall according to 

the characteristics of topographical features. 

8- v)Z’kq”d {ks=ksa esa fudsitfur LFky :iksa dk o.kZu dhft,A 

Describe the depositional land forms of semiarid regions. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- ßHokÑfrd izØe LFky:iksa ij viuh fo’ks”k Nki NksM+rs gS rFkk izR;sd 

HokÑfrd izØe Lo;a dk LFky:iksa dk fof’k”V leqnk; fodflr djrk 

gSAÞ le>kb,A 
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Geomorphic process leave their distinctive imprints upon 

land form and each geomorphic processes develops its own 

characteristics assemblage of landforms.” Explain. 

2- iF̀oh dh vkUrfjd lajpuk ij ,d ys[k izLrqr dhft,A  

Give an essay on Interior Structure of earth. 

3- Msfol ds Bkc fodkl fl)kUr dks le>kb,A 

Explain the slope development theory of Davis. 

4- ifjfgekuh izØe ij ,d ys[k izLrqr dhft,A 

Give an essay on periglacial processes. 
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